
Bus Problem with two busses, one at an eight-minute inverval and one at a ten-minute interval
> (1 - t/10)*(1 - t/8);
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> Diff((1 - t/10)*(1 - t/8),t) =
diff((1 - t/10)*(1 - t/8),t);
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> t * diff((1 - t/10)*(1 - t/8),t);
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> Int(t*diff((1 - t/10)*(1 - t/8),t),t=0..8) =
int(t*diff((1 - t/10)*(1 - t/8),t),t=0..8);
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Bus Problem with three busses, all at ten-minute intervals
> (1 - t/10)^3;
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> Diff((1 - t/10)^3,t) =
diff((1 - t/10)^3,t);
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> Int(t * diff((1 - t/10)^3,t),t=0..10) =
int(t * diff((1 - t/10)^3,t),t=0..10);
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